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Problem quickname: 6274

1)
Quick:
6274

Put one of the given numbers in the box so that the relational statement is true.

a) 392346 < 392376 b) 701333 = 701333 c) 697922 > 697902
d) 760849 > 760829 e) 604244 < 605244 f) 311863 < 311865
g) 317179 = 317179 h) 265578 > 215578 i) 737070 > 737050
j) 800747 < 820747

2)
Quick:
6274

Put one of the given numbers in the box so that the relational statement is true.

a) 9544 > 9524 b) 9102 < 9202 c) 1452 < 1462
d) 4064 < 4066 e) 4272 < 4972 f) 9284 < 9384
g) 4143 < 4173 h) 8822 > 8722 i) 4388 < 4588
j) 5695 = 5695
3)

Quick:
6274

Put one of the given numbers in the box so that the relational statement is true.

a) 38 > 18 b) 51 < 61 c) 15 > 12 d) 64 > 62
e) 24 > 23 f) 16 = 16 g) 32 < 34 h) 49 < 89
i) 54 > 24 j) 40 < 43
4)

Quick:
6274

Put one of the given numbers in the box so that the relational statement is true.

a) 368 > 358 b) 834 > 814 c) 215 = 215 d) 832 = 832
e) 996 = 996 f) 578 > 558 g) 345 = 345 h) 922 < 962
i) 203 < 223 j) 611 < 617

Good Luck!
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